



Summary of Monthly Report- Ablas Clinic January, 2021

The programs have been starting in December, 2019. The program funded by ACT foundation.

Programs	The Provision of Primary Health Care Services
Facility health Name	Ablas Clinic
Targeted area	Sana'a governorate, Hamadan District.
Population	11,645 People.
Funder	ACT foundation.
Implemented by	SORD.
Period of the programs	24 Months
Started program	December,2019
Program treatment	 1- (CMAM) Program, Malnutrition Cases for Children, Mothers, Pregnant and Lactating Women (PLW) 2- Child Health. 3- Reproductive Health. 4- Vaccination 5- Diseases

Program targeted Details

	Program targeted												
Population	Total of Children Under 5 Years	Total of PLW	SAM of chidden <5 Years	MAM of PLW	MAM of children <5 Years	Estimated Treatment of monthly attendance							
11,645	2177	932	272	466	521	1200							





First: (CMAM) Program, Malnutrition Cases for Children, Mothers, Pregnant and Lactating Women (PLW)

Program Reached

Newly recruited children in program (CMAM), to treat malnutrition for **January**, **2021**

Program type	Sex	MUAC<11.5 Cm	Z- SCORE<3	Total	Total of children attending hospital
SAM without	Male	1		1	14
complications for	Female	3		3	16
children <5 Years	Total	4		4	30

Performance indicators in percentage for TFC/SC

DETAILS STATEMENT for January, 2021

Classification by color, location and measurement of the mid-arm in the measuring tape of the child					Number of children with	Number	Action taken		
Male	Female	Total	Sever acute malnutrition (SAM)	Average malnutrition MAM	Normal	(Edema)	of children	Referral	Awareness
44	63	107	4	54	49		5	5	125





Monthly summary of the	number of children aged 6 t	to 24 months according to									
the sched	the schedule at the level of the health center										
Total	Female	Male									
90	54	36									

A monthly summary of the screening pregnant and lactating mothers at the center											
Average less than(23)cm normal Action taken The total											
number of pregnant and lactating mothers	pregnant	Lactating	pregnant	lactating	Referral	Awareness					
225	20	32	23	50		125					





Second: Child Health Program

	Children Seen	Male	Female
Less than 2mths	0		
2mth - up to12mths	12	25	28
1year - up to 2years	19	23	20
2years - up to 5years	22		
Total Cases of	53	3	
children seen			

Third: Reproductive Health Program

	Addres	S		Ą	ge		Previous Births			Visit Type		
Urban	Countryside	Total	Under 20 Years Old	From 20 – 34 Years Old	30 Years Old and Older	Total	Zero	From 1-5	More than 6	New	Attendant	Total
	34	34	3	26	5	34	0	29	5	15	19	34





Fourth: Vaccination Program

	Vaccinations for children under one year old																
S	ν .			Paralysis			q	quinary Pneumococci			Rota vaccine						
targets	osis	paralysis			Γ	Chird									Se	ı A	egia
Number of	Tuberculosis	Preliminary par	First	second	Orally	Muscular injection	First	second	Third	First	second	Third	First	second	Measles	Vitamin	quadriplegia
Ź		Prelin			0	Mu inje											
9	11	11	9	7	13	13	9	7	13	9	7	13	9	7	3	3	3

(Children under one year)

	Vaccinations for children older one year old													
	Paralysis				quinary			Pneumococci			Rota			
										vac	cine			
		Γ	Chird									Y	paralysis	lysis
First	second	Orally	Muscular injection	First	second	Third	First	second	Third	First	second	Vitamin	Fourth para	Fifth paralysis
											3	3	3	3

(Children older one year)





	Tetanus vaccinations for women from 15-45 years old												
		Pregnant			Wo	men of chi	ld-bearing	age					
First	second	Third	Fourth	Fifth	First	second	Third	Fourth					
7	1	1		4	6			3					

(Women from 15-45)

Fifth: Diseases Program

<u>1664</u> attendants to Ablas Clinic were treated and\or received medicines for different diseases throughout the whole month of January 2021. More details about the types of diseases treated and\or received medicines can be found in the detailed attached report in Excel sheet.

For more detailed information and data about the five programs introduced by Ablas Clinic, please read this attached report in Excel sheet.





	Operating Budget of Ablas Health Uni					
	ITEM	Unit	Months NO	Monthly Unit Cost in US\$	Annually Unit Cost in US\$	Notes
1	Unit Health Official	1	12.00	150.00	1,800.00	
2	Nutrition Specialist	1	12.00	150.00	1,800.00	
3	Child health Specialist	1	12.00	150.00	1,800.00	
4	Reproductive health Specialist	1	12.00	150.00	1,800.00	
5	Immunization Specialist	1	12.00	150.00	1,800.00	
6	Volunteers	4	12.00	50.00	2,400.00	
7	Maid	1	12.00	100.00	1,200.00	
8	Guard	1	12.00	100.00	1,200.00	
9	Project Manager	1	12.00	300.00	3,600.00	
10	M&E	1	12.00	150.00	1,800.00	
11	Logistic	1	12.00	150.00	1,800.00	
12	Documentor	1	12.00	150.00	1,800.00	
13	Accountant	1	12.00	150.00	1,800.00	
14	Health Supervisor	2	12.00	150.00	3,600.00	
15	Rent Fees	1	12.00	100.00	1,200.00	
16	Stationeries	1	12.00	50.00	600.00	
17	Cleaning Matrials	1	12.00	50.00	600.00	
18	Water by Truck	1	12.00	60.00	720.00	
19	allowance+ folowing -up Team transport medicines	1	12.00	400.00	4,800.00	
20	Solar energy maintainance	1	12.00	20.00	240.00	
21	Administrative Cost 10%	1	12.00	313.00	3,756.00	
	Overall Cost			3,343.00	40,116.00	
				Monthly	Yearly	







NOTE

Project data files documentations are available for January, 2021.

Accepted log in program.

Follow-up cards.

Record sorting of cases.

Register to continue.

List of names and addresses of children.

If they are requested, we will send to you.





















MONT

11

The Provi

linic













